1.2 Angle Addition and Bisector Foldable.notebook September 07, 2018

A ray consists of a point on a line and all the
points on ONE SIDE of that point

/-B" Ray AB is written as AB

A

d‘@ng‘e: consists of two different rays with the same
endpoint. The rays are sides, and the endpoint

is the vertex. z
5.¢ The symbol for angle is £ vertex .44-:‘)" sides
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Jocute Obluse
Greater than 0° and less than 20° Greater than 90° and
/ less than 180
Kighf S'fraigh’r
Exactly 90° Exactly 180°
< - >
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Congruen’f: angles that have the same measure.
symbol for congruent is =

%ng‘e Biseclor: a ray that divides an angle into
two congruent angles

1S X7 \eisects LK
Wen L WXZ = LT
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Write three names for each of the angles below. Name
the vertex and the sides. Then, tell whether it appears to
be acute, obtuse, right or straight - -
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c‘}@ﬂﬂ‘é Soddition Fostulale:
I?is the interior of £RST, then@LRST = MZ£RSP + m£PST.

2 ,
> ” measure of '

M<RST=z RO+ 20

[ML?S’P :ooj
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@O GivenmzABC=94°, findm £CBD. @) Given m2QRS = 135° find m £QRT.

m CABD nwiced ME:*:C. BX“'I“’;&"(O: ,35
~—N e
X413 4+ x+1 = 34 54-5 = |35

Uy+22=94 5 Y

“LTh 5% = 4o

%:'\_& s 5
q X:2$
X:\X

MK QRT= 3(25)+ |
MmICRD = I18+7)
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In the diagram{ BD bisects ~ABCFind m 2ABC. MG (L Qj
6 o A B
3(r§x:_3 s+ 161
- S(RY+IL
B D €I
Sx+10="Ix-8 3X'&3=?x+l(/
- 5% S ~5¥ -
,D = Db( - % aﬁ_ = ’l’
18 =2y -
22 n= A
?=x >
Xz 15
mLABRC= 10°
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(BD bisects ~ABC) If m2ABD = 32, what is the
mABC?

A

—

[merBC= o4

D
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